\
A

U =1 A ==
HA LfE, FER BANL Ho & KA wmooom
AN 6 AR W | LA T A B R A S S

FH HH S G2V 26, 820, 000
E R 2V 16, 489, 922
[EREIN S -¢ G2V 16, 245, 340
FH ) & 2y 16, 245, 340

kW Ve

¥5 T s AT

NEES
10, 000 HR B L X AR Al
10, 000 nd oo &
10, 000y BE e

SRESh YR




U =1 A ==
HA LfE, FER BANL % & A wmooom W 7
T HIEE L
FH Hi ) 10, 000 nd B E1ER
DI
10, 000 g DR E
10, 000 nd B2 &
FHHiEE A
10, 000 IR
iﬁﬁ)ﬁﬁﬁﬁ
10, 000 nd &
10, 0001 g E
FH HLSZHI ]
10, 000 JRKIERK 1,500
FHH B
10, 000d & (&%)
FH HOS 1 [X]
10, 000d YERK 1.,/500
TR E
10, 000 g YERK

SRESh YR




U =1 A ==
HA LfE, FER BANL % & KA wmooom M
FH H B ¥ 1 Ieg S TRE
] 3 Ieg R A
FEX7
e 1 et LAPNGES
RETRAE B ik
&R 3 reag B RHER
AR
&R 3 reag et
N H A PR
kW 1 LoiTet
FRIT 11 X
1km 0.5 YERK
1km 0.5 IRAEZEERK
THIFRERA (—EEIY
+4 11 YERK 2L B5E)
TR E (B (58)
+-4 11 WA ERR HFRA )

SRESh YR




45
U =1 A R F
HH ,/ THE,/FE5) BAAT e & KA wmooom -
R3S 29 1 244, 582
E2V 1 (&= Sk =4
G2V T R R E
M =g - —RE AR G2V 1 10, 330, 078
B3 % =X 10, 330, 078
FHHGRA 3 G2V 5, 020, 000
BNl G2V 3, 266, 849
[EREXi 2y 2,185, 995
[EREIN S ¢ G2V ,007, 158
FHHFR A %
et 2y 1 384, 284

SRESh YR



U =1 A ==
HH ,/ THE,/FE5) BAAT % & KA wmooom M
T HE o 2
ravie kW Tavts A T
] Tavts PRI A
e et D% 2L PN
E RN RN EAD)
e DEE VERL
MDA 2y 1,498, 778
¥ T s AT
P& TAES O
& FIT TAEROREE THZEOEM 500 A
- B
B =D
10 HWELOHEE E
- B
HE PSR = 124, 096
A A
I PEb 7 bR

SRESh YR




U =1 A ==
HH ,/ THE,/FE5) BAAT % & KA wmooom M
j @TE{’E%‘ RS )
HE BT e TR HE PSR
AT R 45
kW TR B A
AT AR RE R 45
e TR R A
BEEERE (B D) =X 178, 837
G2V MR 2
G2V Pl G BT <
Z OAE AT =X 1, 080, 854
Z OAE AT X 1, 080, 854
— s B G2V 1,753,151
— s B =X 1,753,151

SRESh YR




U =1 A B ==
HH ,/ THE,/FE5) BAAT biig=y & Mmool
SRS 2V 1 31, 840, 000

SRESh YR




